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Time : 90 Minutes Max.

Rttt & f&v fder/Instructions to Candidates
Hel & TR 3 ¥ UEe frefefEd M o e @ ofew
Read these Instructions very carefully before attempting questions in Part-ll
1, WO US TEN, o fE anudh gds-y4 4 1. Please write your Roll No. as given
Ra 2, e R (o S e an your Admission Card very clearly
S T lonly one digit in one box) Please
e 34} | T LT v ﬁﬁéﬂiﬁﬁﬁfﬁr see that no box is left unfiled even
H ¥ 10 | I v 8 31 aTel 90 O S

Zeroes appearing in the Roll No. are
of} 30 190 GRS U G- ) comectly transferred to the appropri-
AT T FemarAidE e i

ate boxes on the booklet and the

L] 1
i VI TR AR TR ol

FETER : ULELGRLE. B Example : for N.T.S.E.
|2[3]0]1[3]o[a|o]3]2[1]5]]2[3]0]1]3]0]4]0]3]2]1

2 VM BEATE 0 TR T FE 2 There are 90 guestions in this paper.
ae P o Each question is to he answered,

S 350 PR R R 3. These 90 questions belong to the
: I : PRI following subjects:

5 |

: "?ﬂa—q.’_m_ﬂﬂ \ 1. Physics
{ b4 39T Eel 12) - 129d ' (S. Mo. 1 to 12) - 12 guestions
2. mm%@lﬁ 2. Chemistry
(Framr 133 23] - 11 9H (SNo. 13 to 23} - 11 guestions
3 uig [stm 3. Biclogy
VP UM 24 HA5) - 12 W (S.No. 24 to 35) - 12 guestions
4 AR _ 4 Mathematics -
(49 Geag 36 § 55) - 20 WA (S.No. 36 to 55)' - 20 guestions <
5. E%FF‘? 5 History ?'
(&4 WEOT RE O 65 10 95 {S.No. 56 to 65) - 10 guestions A <
) 6 Geography
(7 =1 66 7 75) 10 7T (S.No. 66 to 75) - 10 guestions
7w B . 7. Pulifical Science ¥a
{ﬂm 76 FBE:' . 1':]'.;[3‘_‘[ {E‘-ND 76 to 85) - 10 guestions | iR
5 ol 8. Economics -
(T as B o) - 5w {5No. 86 to 90} - 5 questions -

TS - 90 FH

Total

- 90 questions



(

S A 0 a7 w Rilg 7 o a0 weer
Ce0 s TET TR

WeTEE U3 o gul, SER-UAE e T
fepoidi 7 9t e aret el F Fda
71 . A, UFEE ¥ e e o ST
i i e RIS O CIE it
i [l v wtamedt 1 ERT s A une
T B T SEoA ard, 6t 99 ¥R A
Freram ar amaw 8 7 I 6 gfd am

)

B!
| 8

For this paper, prescribed duration is
1.30 hours (90 minutes).

Answer fo each guestion is to be
indicated by blackening, with HB
pencil, full darken corresponding
oval of correct one alterndtive
number by HB pencil. The scanner
will not accept the answer if the oval
is not filled comypletely darl if so the
candidate will be responsible for it If
you want to change the WIONG answer =
then rub it and indicate by !
bie.~kening another oval, :
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Now go to the next page and start answering the questions
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Work a! the place meant for it.



, (3)
1. 3+ 0 41 57 @1 T5E 78] 8-

Which = not the unil of Force~

_ (1) ud8d, Poundal (&) =E/Dyne
: BT Hs/doule (4}  =ggA; Newton
2. uarel (o) @ e ek o -
l The expansion of a solid body depends on-
e
f (1) e g21ef & 522 o Mass of the solid only
T (21 e uZre Ui T/ Nature of the solid only
s 131w wEEf & ard u Temperature of the solid only
Wy qered @1 Wl od 2Eh A0 UR/ Nature and temperature of the solid
3. [ o @t vae afFmat o 8y e €7
Which country is called the countty of Wind mills?
1) &/ Holland
\2)  i5CM, DI
(3} 9/ India
(@) 3l America
4, ART H AT FaA] AT F T ey -
Who was the first President of Atomic energy commission in India-
{l}ﬁ‘ﬁ FEIMR 447/ Homi Jahangir Bhabha
(2)  fom AR Vilram Sarabhai
(3) . w4 u, amERA/ Prof. MS. Swaminathan
| () 91 98 T/ Prof. Meghnad Saha
W $1 (Rough Work)
Rough

NTSE 13 - SAT [PT.O.



(4)
5. ORI ae A S e Y R E-
The particles of the medium in the fransverse wave move-
i1) ga@r @y 4/ Circular Motion {form)
(2] amgleR 79 49/ Oval form
(3] & GERor T f2em #/in direction of the wave motion
R TR 1 e & e/ Perpendicular to the direction of the wave motion

76, R R T -
" The Lens used in the Camera is-
{1) <% ot/ Convex Lens
" (2)  ¥@de @4/ Concave Lens
(3) fagmet 79/ Biconvex Lens
() fEaEes @9,/ Biconcave Lens

7. =i ol o afids B 2

VEIULILY UL 2UGIA 13 (i it b
(1) 9T H/ Water 2y T /00
(3) ag 4/ Air 4y o1 #/tron

8  UF dec wWET BNl B
One Volt is equal to-
() 198/1 Joule
(2) 1 ge/$aM/ 1 Newton/Coulomb
34155/ g/ 1 Joule/Coulomb
(4) 1 3om/=eA/ 1 Coulomb/Newton

W ®l (Rough Work)

w & =V

 NTSE 13 - SAT



0, g qed W 220 gz 3R 60 e TR g # a9 A ARNg T FEifEd O

1 4 3ha Film |

On a bulb is written 220 Volt and 60 watt. Find out the resistance of the bulb
and the y of the current flowing through it.

" 806.66 3M/806.66 ohm 7 0.27 tfav/ 0.27 ampere
(2] 500 35/500 ohm 3 2 UEaY,/2 ampere
(3] 200 ¥m/200 ohm 7 4 Of@mR/4 ampere
(4] 100 M,/100 ohm T 1 ¥R/ 1 ampere

10. e # walftes s g 8-

The maximum attraction in @ magnet is-

(1) 7= 4/In the centre
(3}~ 4l w/On the poles

11, el 3 9 e
The Unit of frequency is-

i E S Hertz
T (3} a%/Ohm

12.  gse@T Jafte aET on-

The first Astronaut in space was—
(1) w@ o dea/H.G. Wales

) (2)f® st/ Neel Armmstrong
(3) i/ Un Gagarin
(4) 92 mrerR, Robert Godai

(2)

[T W/ On the sides
g W,/ On the surface

9%/ Joule
et Far /Kilo Calorie

T &4 (Rough Work)

NTSE 13 - SAT
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{6)

13, ch 41 d9IFF 2] B—
Boiling point of Water is—

-,2\_"" -;

AT 9737 K 21 0K
|

BFETS K (@

14, ufger, fomd grr A9 R FRrEe 7 [0 &5 7 Ts €, Feedl o

The Process by which a miture of Sodium Chioride and Ammonium Chloride
can be separated, is called-

1) ~Teuma / Sublimation 21 @M/ Chromatography
131 T/ Cyaporation g i Distillation
':’ ¥ 3 f “le Ly _.-t 'I':

15, afEge dethe a4 6

The formuia of Ammonium Sulphate is-

(1) NH,S0, A&TNH,), SO,
(2N (SO iy NH._(30.).

16, Bl e & wneene | &) -
lsotopes of an element have-
(1) FA il g/ Same Physical Properties
(2) {3~ vl o/ Different Chemical Properties
[3)  =ggi=a &t 1 s/ Different No. of Neutrons
(4)  f=1 vy FHTe  Different Atomic Number

T &4 (Rough Work)

NTSE 13 -~ SAT
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(7)
e R PG aed k' A o guief o s e & 5w vy aeal
g 0w ergele A waRd ae u g T e i 2 e vy B
A Brown and bright element '« when heated in presence of air tums in to black
substance " If F {yomqen uas is passed over this heating material again "x" is
obtained. "x" and "y are -
(1} AR afR iR sasigs ! Cu & CuO
(2] e 3 Uohy i HiEe S & SO
(3] FEA AR A EEaTeEs C & CO,
() mife sl mifT emegs/ Na & NaH
oY gerie s @ P B 2
Py of any neutral solution is-
(1} © 2y 1
3 14 AT
T W W G sgver 3 uiE a8, A

A non metal, which is found in liquid state is—

-H—]"’élf;ﬁ? /Bromine (2)  amaEH/ lodine
(2 ﬂﬁﬂﬂaﬂlf l:_].{}’g._:: £ () EEIE\Y:[..J’CarbGn

g fea ot @i (eeqa Bt et = 3@ 8, &1 Py iill-

The Puof a solution which turns red litmus Blue will be-

1 1 AT
@ 5

Y6 #1d (Rough Work)

NTSE 13 - SAT [PT.O.
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22.

iy
£

24.

~] T Al

. (8)
T & A § | B geaeie Ry wd g
Which of the following is comect electronic L:Eg,ﬁguratinn of Argon-

1) 2.8 272,88
3 2.8 1 4) 8 2 8

o aed xR e Al 7, x Cl, A0 9ARRS ST 8, e a3 48 e
3 W8 & FiE BrT-

Element "x" which is solid and having high melting point, form a Chloride

I

- "x CL". This element "x" would be in which group of Periodic table -

m/gt%m /Na @) dehfirm, Mg
|
|

=T T ifwEd ug 'CH," 7, 56 8-
Methane with the Molecular formula "CH," has-

iy/ﬂmﬁ?ﬁ 44/4 Covalent bonds

=N a =t e A0 ML T ]

P e AW IULEEL LA D
31 6 gEFad 9476 Covalent bonds
(4] 2 gEwEed ge/2 Covalent bonds

BT T I P P S B0 & AT FA B
Cell organelle which differentiates plant cell from animal cell is-

(1)  ®fde RBeet/ Cell Membrane

w&’”@%@ /Plastids

(3] @fgar/ Nucleolus
(4) Rfreen Vacuoles

% B (Rough Work)

NTSE 13 - SAT



(9)
25. G Uh WK & [ari Jie & foe o ardt 2-

Blood is a type of connective tissue, which has—
(1) o 3R Ffani/R.B.C.
(2) eaq it win /) W.B.C.

(3) =/ Platlets
: @ Wt/ All of the above

26. o= v Wil & wrfde e 2
Bile Juice is secreted from-
(1) @R 4fmT/Salivan) alands
(2) 3 afirar/ Intestinal glands
(3] W™/ Stomach
= {'4’}4!&%;’ Liver
27. e § 9 arwia dedt 8, @@ ot gar wa: Suan § off o 8, 9 -

When acidity in Stomach increases, the medicine generally used is-

4?'/“’@? 1 @181/ Sodivm bicarbonate
) &1 T@el/Sodium Carbonate I -’4.,{:"—3'1

(3) 3 #dHe / Ammonium Carbonate
—~(4) 3Ry FEFEFe / Ammonium bicarbonate

fore e of <o &, 7% 2

-|aneria_ is kept in which group -

(1) #i<er/Coelentrata W@Iﬁﬁf Platyhelminthes
(3) FEeErer/Nematoda (4) uetferer/ Annelida

% &4 (Rough Work)

NTSE 13 - SAT [PT.O.



(10)

29, [5%1 9 9 o grIwIEeT 1 SRmR -
Which of the following is an example of Brayophyte-
(1) A /Moss 42y &l /Fern
(3) o/ Pinus (4) st/ Algae

30. et @f g TEAYE! gt o W AEHEET UE o 8, 98 B

Dissimilarity found in Aves and Mamalia is—

W BftRert gmoft/ Warm Blooded Animal
(2) &S <d &/Lay eqgs
(3) 9@ TWHH &1/ Breathe through Lungs
(4) =w ®eftg g2a/Four chambered Heart

31, uerd ) waund) o & v aes &

Substances necessary for autotrophic Nutrition are—

) T TmaTemmmamEi/on
(2) uvfefa /Chlorophyll
(3) &1 Wae/ Sun light

Jad T4/ Al of the above

aned H )

£

32, @ 2@ [ Sua 9 a7 o 2, 98 &

Blood Pressure is measured with an instrument called-

(1) osfies/ Thermometer
(2) /Stethoscope

TS #HIEY / Sphygmo manometer
(4) S gmfiteR/ Clinical Thermometer

% &4 (Rough Work)

NTSE 13 - SAT



(11)
ﬁ33 qEY J A Iud Iaverlt 2—
Phloem tissues in planis are responsible for-

(1) & @7 ﬁa‘é?f'fransportaticn of Water

w %l Fae- / Transportation of Food

(3) arfr apat @1 HaE/ Transportation of Ammino Acids
(4) SRS @7 g/ Transportation of Oxygen

I

The plants in which vegetative propagation is found, are—

(1) amfe/ Brayophyllum (2) 71/Sugarcane

(3) 7&1E/Rose __(4)__gaaft/All of the above
P13 1 & UTeY BRAN T8 -

Which of the following is not a plant harmone-—

(1) 3/ Auxin

(2) fSreRfe=T/Gibberellins
(3) wseEERA/ Cytokinin
{4)_ k=17 / Adrenaline _
IR y = x? - 3x — 4 & 71 T A I gl rf—
Graph drawn from the equation v = x? — 3x =4 will be-

(1) guaR/Circle 19 u%awa/Parabola
(3) el v@n/ Straight line (4) aifemRaed/Hyperbola

—

¥ &1 (Rough Work)

[PT.O.




{12)

37.

2x +3y =7, (a-hlx + la+bju =3a+b-2

For which values of ‘a’ and 'b’ does the following pair of linear equations

an infinite number of solutions—

e Z2x+3y =17, la-bjx + [at+bly = 3a+b-2
s e g 2) a=4,b=2
B =l bB=5 4 a=2 b=4

38, afc b - dac = 0 B &l &0 Wi ax’ ~hx+c = 0 & 55 8-

If b* - dac = 0 then the roots of quadratic equation ax?+bx~c = (0 is—

e LI
- Za Za o 74 24
3 By dbt dac b +b*-dac

4) .~

e NS

2a Za

39, Rl wmre 2ot 6 i @i wad wel @ 3 6 & ek e 8 ¥ ardareR ¢

The sum of the third and seventh terms of an AP is 6 and their product

then common difference is—

o

1 5 T i | A £2
(2] & E (4}  + E
guﬁ
| Ehﬁ (Rough Work) '+
cvi I e B 5., e
P( }I ' . ___.\#._EL S & K
] 3 P 1 ._.-—-‘1. -.“-Tl' -
| W o) T o 42 -, B
{“. q o b er sk
> ) 7 & ,-:/ H
et - 4 ..B. =35 ¥ 1—.:"'3 s
g & . " L :' 4 - ks
-‘} q’l bl _-l-f_*_s.-;ﬁ‘ ‘}h—'?t 'C-;"“‘ . 'E ,E}
bh“k 5, G q-‘f’}* & .39'-
i i I .
.:L" e L >?‘ o x i gww
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40. o drgpld 4 w9eg ABCD d 7fz AB 11 CD & d x 7 9719 21—

In & given figure in trapazium ABCD if AB 1 CD then value of « is
( a

C
.1,---""*._”_‘ H w TR Lo
s iy § oy
A2 20 STe \ o

41, afe (x, 0), (0, y} 7 (1, 1) fig dwa 81 & 75 ER— L

If points (x, 0), (0, v} and (1, 1} are Collinear then the relation =

N = VY --"F-. S '
Gl Xy =1 T Ay T Ay

B} x+y+1 =20 4 x+ty+xy =0

42. % Sin{A+B) = i; Cos (A-B] = {73 g O<A+B < 90", A>B & S ATB
T HIH BRT— ) .. |
If SinfA+B) = gi Cos {A-B) = V; and O=<A+B < 90”, if A=DB then the
value o nd B are—
ﬁ;ﬂ B )5 (2) A=60", B=30"
(8) A=0", B=30" 4 A=30", B=0"___

% &A_(Rough Work) 7o  \ .

T

{}r ) ‘} 3 ok .
NTSE 13 - SAT 5 o T ) [PT.O.



43.

(14)
w2l & g=1a 1 1 g 071 90" a% 2 2 Rt fiR $ orerd &1 g i afadq 2

If the Angle of elevation of sun increases from 0’ to 90" then the change in
length of shadow of Tower will be-

(1) 5 18 yfkads 921 @71/ No change in length of shadow
; &I @ geit/length of shadow increases

37" weTg $i 18 gl /length of shadow decreases

(4) wwerd =g & Sl /lengh of shadow will be zero

44w 3 1 giRAT9 g g G uRfe svEs 21, @ @i &1 dFwd 121md 8, A1 99 & 9% B
The perimeter of square and circumnference of Circle are equal, the area of squ
is 121 m*® then the area of Circle is-

(1) 7 nm? (2) 14 © m?
(3) 21 m m? (419 1 m?
"

45. gl U 911 U Ry 14 941 398 910 W@ 99 & 1 & MMpR & & | FT gun

Ri”T @1 &g 4 991, g 2 901 &, 39 Rrows $t arfvar 2nfi—
A drinking glass is in the shape of a frusturm of a cone of height 14 em. T
diameter of its two circular ends are 4 cm. and 2 cm. then the capacity
glass is—
; 2 1
(1102 3 cm? (2) 102 3 cm?
e 2 1
77(3) 101 3 om® 3

W A P % & (Rough' Work) @
R o o & T O i
\.:L & ' 7 L] & k
P G )
. B L.._}' r. e _,%_Q
o C-; Tﬂﬂ .
- -"’r-\
X3 A7 ! " iT
NFSE 18-SAT 1 ¥ I V% | -

— &
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(15)

46. [t SIEIRAT AT @1 RIS 525 2, deT 9gad 500 B dl Hied ghn-

The median and mode of a frequency distribution are 525 and 500 then mean
of same frequency distribution is—

(1) 75 (2) 107.5
(3) 527.5 (8)-537.5

47. ity Rrera © onenfa “The Book on games of chance” e & o -

The author of the book “The Book on games of chance” based on probability
;;____,.thécrry is—

(1) = @&A/d. Cardon

(2) @R, ggdg4/R.S. Woodwards

(3) dtwa. e/ PS. Laplace

(4) dt.$l. waf/PD. Pherma 1

Aot
5 :
8. F_JE & &R &1 IR B
Q
Rationalising the denomenator of FE_—E is— -

ek

5

£ 5 - -~ 5
w (38 5) g A3 5+ )
r5 - 5)
(3) j;(ﬁ_\ﬁ) (4) [' '2")("@_"{5)
»
- s
WG ®1 (Rough Work) = |
bl

NTSE 13 - SAT [PT.O0
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2]UI'| .
49, 5 &l HiH 8Fl—
TUHY
Value of 22 is—
(1) 1 (2) 50
3 2% e

50. uH g @ Al o feg 9w oo fah dieft Yand Hi=ft o wadt 8-
The number of Straight line drawn from one point to any other point are-
(1) 4 (2) 3
@) 2 41

e

51. RawfRmdaf PQ ST, £ PQR = 110", £ RST = 130°d1 / QRS &1 H19 211
In a given figure PQ 11 ST, £ PQR = 110", Z RST = 130" then value of 2 QF.

15—

I & (Rough Work)

r
¥ L.

Be

NTSE 13 - SAT




(17)
52, fanft TR WS & HIvi & wHReTeRE @) ey g # aw A

The bisectors of angles of a parallelogram makes a figure which is—

_u-""

_1)” armaa/Rectangle (2) gd/Circle 2.
(3) e/ Pentagon (4) 3Eqa/Octagon :

93. gu A wew &9l ofiar &1 wEd g-
The Chord of maximum length in a Circle is called—
(1) frar/Radius (2) =m/Arc
_ (3] =%/ Diameter (4) fo=5/Point
(;igﬁl. \ &t Bgst ABC st ot 24 Y, 40 . 7 32 41 &1 &) d5we -
. Area of triangle ABC whose sides are 24 m. 40 m. and 32 m. is—

H (1) 96 m? (2) 384 m? :
Y (3) 43 m? A4 192 m? o
%
55. O wd A I T T8 4.4 .2 B AR snum B rear 0.7 . R A S Eh i (o~
22
=
Curved surface of right circular cylinder is 4.4 m? radius of base is 0.7 m. then i
22 .
the height is (Take ™= —) el S
? 4 V2
_1.1')’/1‘?{.;"1 m. (2) 2H./2 m. 2l
(3) 3#./3 m. (4) 44t/4 m. S
=y 4
_ " & o 2 el
: ; — § e
. - —W} - £
4\ * v ‘\'ﬁiﬂﬂlfﬁ]ibushqﬁ!nrk} it <
7 5 = ) B
d i
s o "Gy
.J'f"t"'”' : . . S
LATS 47 ' L 2 < it T I W S
L e )
= =) Lamy o WOy "3 Y o
7 N e Ja i
NTSE 13 - SAT o A Sy (PRa> -
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56. ScR-Hav @1 [ e aearEn oqr ?
Who built Jantar-Mantar ?
(1) wars safie/ Sawai Jaisingh
(2 st s siafde/ Mirza Raja Jaisingh
(3) o wFIE/ Raja Mansingh
(4) wag 88/ Pratap Singh

57. ‘it aifase’’ & w=afar 97
Who was the author of “Geet Govind™?
(1) e/ Sarangdhar
{2} e / Jaidev
H[‘H"Ic.‘ﬁ’-f Madhodas

WﬁﬂﬂfBlharl
58. a1 odi ararvy (B e 5 [R5G &7
Kaila Devi Sanctuary is situated in which district?
(1) o@ay/Alwar
(2) B /Dungarpur
/Laj/f_\:;?f[{arauﬁ

(4) SF=age/Udaipur

vF &1 (Rough Work)

NTSE 13 - SAT
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59 - o o geerd: Saeart en?

60.

61.

—
/62

{

-

Who was mainly responsible for “Bang-Bhang'™?
| @i @/ Lord Litton

12" @1$ R /Lord Rippon

(3) @12 ¥ Lord Meuchale

(4) @fs o/ Lord Korzen

1913 H gIaT Wed Hied F fhed g18 off—

In 1913, Dada Saheb Phalke made the movie-
(1) 349d/Basant

2) <o gRermrs / Raja Harishchandra

(3) aFrEl/ Anari

(4) 937 e/ Paying quest

freifes aar &7

What is Gilotin ?

(1) @as &I @/ Mine of Coal

(2) =g aferal/Human Settlement
7ey Hefi4/ Death Machine

(@) TraRe Hfd/ Shifting Agriculture

XN

IS AT It ST R 3

Massat Mara national Park is located in—

(1)/ % /India (2) IR/ Pakistan
S /Sudan (4) @Fa1/Kenya

W ®1d  (Rough Work)

NTSE 13 - SAT - [PT.O.
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63. sk &t weft wduer fea Qo 3§ oey g2 2

In which country first time the cultivation of opium begin?

(1) yefmies/ Portugal

A2)  wra/India
(3) =/China
(4) fae/Britain

64. wem fvagg & arg e @Yy o or ot €2
Which treaty was imposed on Germany after first worid war?
_L].}/Efﬁfﬂfversatlles
(2) uf¥/Paris
(3) fRFT/Vienna
(4) &g/ London

65. Rd ¥ gl fhde goa fhas @er ?
Who gpened the first Cricket Club in india?
( 371/ Britisher

(2) f@=g/Hindu
(3) 9=t/ Jurestreian

. (4) ga&H/ Muslim

I a (Rough Work)

NTSE 13 - SAT



66. 'avEE 9T B
What is “"Barkan''?

¥d o & & 9%/ Name of Sand dune

)
(2) e @1 9/ Name of Village
(3)  us @1 A/ Name of Tree
(4} gdd @1 9/ Name of Mountain

67. fpa oy 6 deE & FIoER FE Kl a7
Which state coast line is called the Malabar?
(1) gsivid/Gujrat (2} &% [ Kerala
(3) ¥/ Rajasthan *'Jr{-'i] gfea @/ West Bengal

68. e apARe e B

Ranthambore is situated in—

(L}-rrr/ Rajasthan
(2) a=umgs et/ Arunachal Pradesh
(3) 399/ Assam

(4) #eg ueer/Madhya Pradesh

69. ¥fuash. & o AE B
The full form of C.N.G. is-
(1) @=uravg AgRe 19/ Compound Natural Gas
(2) @ireiand 49 19/ Complex Natural Gas
(3) @wuUs = i/ Compound New Gas
,ﬁ}f"lmﬁﬂiﬁ i1/ Compressed Natural Gas

% dRf (Rough Work)

NTSE 13 - SAT [PT.O.



(22) -
70. @ F 7D B-
The ore of iron is-
M everze / Haematite

(2) T/ Uranium
(3) gm@AEe/ Bauxite
(4) forrge/ Lignite

71, R | o 8-
Gender ratio in India is-
(1) 880/1000 2} 940/1000
(3) 300/1000 (4)  400/1000

72, - R e T e e 82
Bhakra-Nangal Project is situated on the River?

) o/ Satluj

(1
(2) @451/ Tungbhadra
VW?}Dadear
(4) =Tt/ Mahi

73. @ Wfiq wRewr it ARd § F9 @1 gar?
When was “Indian wildlife Protection Act” implemented?
(1) 0 (2) 1972
1974 (4) 1976

Y6 & (Rough Work)
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74.

75.

(23)

@R g it #fte B
Salty Water lake is-

1) wawHe $ile/ Jaisamand lake
(2) e 2016/ Rajsamand lake
(3) dlamr 3%/ Didwana lake
(4) T99PR 3t/ Gapsagar lake

sftq =ag o & arll guf &1 Far e -

The Rainfall that occurs during winter season is known as-

(1) #F%7/Monsoon
(2)  =para/ Cyclone

{3}_ 3 .Hﬂf;’ Mango Shower

—4)  H1ae/ Mavath

76.

i

YR BT W2H ARG $H 2a] 27

Who is"the first Person of india ?
ﬂ,{*ﬂ?! geHA! / Prime Minister

(2) pufa/ President

(3) wgures/ Governor

(4) F&aAt/ Chief Minister
=1 § 9§ a1 391 TG ApEE P LRl Jevg T8 22
The Country that is not permanent member of United Nation Organisation is?
(1) }FI’/Russia (2) fae=/Britain
_3r 1/ China (4) YrRd/India

% F1f (Rough Work)
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78. 'z @ A ¢ hre’” it smeraen 87

“The long walk to freedom’ is autobiography of 7
,/ﬂ'r/W RUZHT / Nelsen Mandela

(2) #ereH1 17t /Mahatma Gandhi

(3) & e/ Barak Obama

(4)  ifiary gea7/ Amitabh Bachchan

79. ¥R afedr’’ @ gy e 9 8v

“Code of conduct” is related to ?

(1) 3gg/War
(2) ufagd/Transportation

| (3) [ Cereals
(4)” gra/ Election

80. “HEAl F HftER A&’ & el B WER | gaA1 i daEdr 87

Who can seek information from government under "right to information Act”?

(1) &% ft avfa/Any Citizen
2) e wap) aiftr@n/Only Government officials

(3) Faw aadn ¥ Faffed e/ Only elected members of Loksabha
(4) ¥aw faum W ¥ Faifa Wew/ Only elected members of Vidhan Sabha

81. iy wfaam & ared! gyl § fsat s &2

Wﬁy languages are there under article 8th in the Indian Constitution?

), 22 @ 20
& 25 @ 15

% &4 (Rough Work)
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(25)

guee fdy ) §aftaR 23 9101 fAsa &1 weal 291 82

The first nation of the world which provided adult franchise is—

(1) @R/ America
(2)  “rd/India
(3)  areites/ Brazil

_Lﬂlj :q\r;ﬁ#fua'f Newziland
et i ¥ o 29 F oo ol aaavel apuHTg TS 27
Which of the following Country has adopted the one (single) Party System?

(1) ¥Rd/India
(2)  amR®1/ America
(3) I/ Japan

(4) iF/China

YR AT FH B P B gL

In whieh year Indian National Conaress was established?
(1) 1889 (2) 1885

(3) 1985 (4) 1905

=1 4 9w deeafia vee @ 87

Out of the following which is not a union territory?

(1) ggadl/Puducherry
(2) @vging/Chandigarh

(3} “ma1/Goa

(4) &9 g &1/9/Daman and Div

Y% ®d (Rough Work)

~ NTSE 13 - SAT e [PT.O.



(26)

86. wfta areftor R A} aifeifran wa ailta gan?

When was the “National Rural Employment Gurantee Act’ Passed?

(1) 2001

A
3 2005

(4) 2007

87. wHIdh. Fam g?
What is GDP ?

(1) @ 2% Jre/ Gross Daily Production
/fET/ Hehed B I716H/ Gross Domestic Production
(3) uFS v Afdr/ Gross Domestic Power
(4) Wb ferg I416/ Gross Development Production

88. HRd H Etg Suiadr fGaw e aem o 87

When is the National Consumer Day celebrated in India?

}1’)/;4 [&a/ December, 24
(2) 16 fHarae/September, 16
(3) 8 =T /March, 8

- (4) 25 %/May, 25

Y% B (Rough Work)

NTSE 13 - SAT
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89 WU 20 11 & SFFHR I F WISVAT &7 &7
According to Census-2011 the literacy rate of Rajasthan?
(1) 48.34%
(2) 54.90%
A3 67.06%
4y 74.04%

90. vre A anfels seriero & qourE B af | gd?

In which year did the Econemic Liberalisation start in India?

(1) 1991
(2) 1996
(3; 1999
(4) 2004

% B (Rough Work)
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